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1 mvw`qv 99.5 99.5 98 99 99 98.5 494 98.80gygZvR gyiZvdx A+ 1 DËxY©

2 Zvmwbqv 99 95.5 98 94.5 94 97 479 95.80gygZvR gyiZvdx A+ 3 DËxY©

3 AvqvZ nvmvb 99.5 91.5 98 98.5 99 100 487 97.40gygZvR gyiZvdx A+ 2 DËxY©

4 gwbiv 99 96.5 98 91.5 90 96 472 94.40gygZvR gyiZvdx A+ 5 DËxY©

5 mv`vd 94 88 0.00 Abycw ’̄Z

6 BmivZ 98 93.5 93 92 80 95 453.5 90.70gygZvR gyiZvdx A 9 DËxY©

7 Avkivd †gvjøv 95 90 96 93.5 96.5 90 466 93.20gygZvR gyiZvdx A+ 7 DËxY©

8 ‡di‡`Šm 99 98 95 98 82 95 468 93.60gygZvR gyiZvdx A 6 DËxY©

9 Avey eKi 94 67.5 53.5 61 85.5 90 357.5 71.50 A- 11 DËxY©

10 Bkiv 89 72 63.5 79.5 57.5 87 359.5 71.90Rv:wRÏvb gyiZvdxA- 10 DËxY©

11 wmqvg 52 63 78 51 40 50 282 56.40 RvB‡q` C 13 DËxY©

12 LvBiæj nvmvb 86.5 30.5 44.5 40 58 40 0.00 we:cv: DËxY©

13 gvneye †gvjøv 33 13.5 29 23 58 48 0.00 iv‡me F AK…ZKvh©

14 gwiqg 81 77 55 54 54 50 290 58.00 RvB‡q` C 12 DËxY©

15 Bjgv 99.5 93.5 97.5 97.5 94 96 478.5 95.70gygZvR gyiZvdx A+ 4 DËxY©

16 Avdwib 99 98 93.5 87 86 96 460.5 92.10gygZvR gyiZvdx A 8 DËxY©

17 AveivnvZ 96 43.5 24 40 57 70 0.00 iv‡me F 1 wel‡q cixÿv

‡gvU cixÿv_©x 16  Rb, A+ =  6 Rb, A=  3 Rb, A- = 2  Rb, B=  0 Rb, C= 2  Rb, D= 0 Rb|

we‡kl we‡ePbvq DËxY© 1  Rb|  ‡gvU DËxY©  14 Rb, AK…ZKvh© 2 Rb| cv‡ki nvi  87.50%
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